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Practic@ 13=3. ... oo RADIAN MeASUrE

Part One

Write each measure in radians. Express your answer in terms of 7.
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Write each measure in degrees. Round your answer to the nearest degree, if
necessary.
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Use each circle to find the length of the indicated arc. Round your answer to the nearest
tenth. .
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23. A pendulum swings through an angle of 1.8 radians. The distance the tip of the
pendulum travels is 32 in. How long is the pendulum?
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24, A 0.8 m pendulum swings through an angle of 1.5 radians. What distance does the
tip of the pendulum travel?

r=0.¢ S: O r
O=-Ls §= 098
= [(.d m



Lesson 13.3 Part Two

The measure ¢ of an angle in standard position is given. Draw the reference triangle and
find the exact values of cos #and sin &for each angle measure.
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In which quadrant, or on which axis, does the terminal side of each angle lie? Draw the
reference angle.
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